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And if you will say, if he wants he can throw a v to him

OVERVIEW

n"7 mentions, rhetorically, a reason why the 7127 maintain that it is not a 2117 for the
[°9W to receive the MW vW on behalf of the] 7av, since the master has the option
of throwing a MY “vw to the 72¥ and he will be freed (anyway).'

nvoIn asks:
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And if you will say; what of it that the master can free him regardless;
nonetheless this 21972 which the % is receiving is a 27 for the 72v, because it
disqualifies him from eating 1n?!

N1B0IN answers:
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And one can say; that he maintains that the receiving of the M nw ww by the

9w cannot be considered a 27 for the 72y -
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Since, even if this 772 will not accept the M7 vw, his master can disqualify
the 72y from 72190 in a different manner, by throwing a 1MW VW to him.

mooIn offers an alternate explanation:
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Or you may also say; this is the explanation of 'kv°x 7°% p>1 *va °X'; if the master
wants he can throw a 17w va to the 72¥ so that it is questionable whether the ©3
is closer to the master or whether it is closer to the 72¥. In such a situation the 72y -
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Will be forbidden in /7790 and in a 75w and in a 1997 N3, and it is better for
the 72V to be entirely 99mwn instead of being in this half-state of 72v 90 and 777 12 oD,

where he loses out in both ‘worlds’. That is why it is not a 2117 for the 72v to be free, for the 17X

can make matters much worse for him.
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'See »1 11" "wA.

? See “Thinking it over’ # 2.

? The M mw per se may be a 211; however the receiving of the M1 qvw by the 19w cannot be considered a 217
* See “Thinking it over’ # 3.
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And similarly, if the master wants he can take four *11 from a fellow 89w (not
a 1710) and thereby selling him this 72v,® which will disqualify him from 7=,

and he still remains an 72y, therefore the MW is not (such) a 21, for even though he is
losing the 7m170 but at least he is a free man.

SUMMARY

We can either say that the act of the 2w receiving the 277w is no 21 because the
master can free him regardless, or that the act of 217w is no 217 since the owner
can make him a 77mw» Po0, or an PXIW° 72V which is even worse that a 99mwn SXT.

THINKING IT OVER
1. How are we to understand the ruling of 1192 X% 07X% 1°an X according to MH0IN
question and according to MdoIN [first] answer?

2. Mmoo asks (on the statement of Rv A 7°% P77 °va °X n"21) that nevertheless the
7w is a 2.7 Why did not moon ask this question directly on the 7wn which
states K1 1T Xow 787 oK X2, that nevertheless the 1w is a 2m21°

3. mooIn answered that receiving the M nw ww (by the m°%w) is not a 2 for the
73y, since the 117X can throw it directly to the 72v.” If this is indeed so then why by
the WX is receiving the v by a MW considered a 211, the husband can throw a 03 at
her as well?!"

> This is just a random number for the sale price; it could be any amount (see X, 17).
® An *w1d 72V is acquired through 70> 11p.

7 See footnote # 2.

¥ See 2"wmn and (T1RT) KW

? See footnote # 4.

10 See (footnote # 8 and) 11"nx # 109-110.
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